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ST = Ar

%(;’%‘) BN R2I0H S AS &I (A 2eHACH 4.39 | 0.28 2.10 | 0.28
2IAE DRIOtE A S XA EH(FAN) 22 ACS 3.55 0.25 5.47 0.25
2INE DRSS A E RS (FA) 2 AS 0.49 0.09 0.49 0.09
EHETHAE 2| AH(AEFR XL 1.15 | 0.01 1.13 | 0.01
UBFAFR 22| 3] A 0.82 | 0.01 0.81 | 0.01
2 8 53.88 | 2.07 52.80 | 2.07
J|EHH| 2 ** 0.12 | 0.00 0.12 | 0.00
SH=0H0H. SM ==& 4.20 | 0.03 3.12| 0.02
%D%Hitﬁ TAEHE S HHIA 242 2.34 | 0.02 3.47 | 0.03
=2 6.54 [ 0.05 6.59 [ 0.05
=3 A Al 8.82 | 0.07 11.87 | 0.09
* HEO| =XAHEU (DB &) Yl HIS
» J|EHHIE0l2t SIHZAEIE, 23 32 HE ¥ ZHHIE S HENN dAFH.BIEHOZ X=E HE2ZAH 010K
ZH 48 HYS AALIC
¥ dUEUY  HZAIE S
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g HE AREHE HlE St
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SHAE D20 S A ERFAIE MO - 0.20 0.20 - 0.20 0.20
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AT I2IOI=HE R AlIE &I 1.76 - 1.76 1.76 0.20 1.96
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2UE DRI OtS A E XA E X0 1.26 - 1.26 1.26 0.20 1.46
(FA)BNACe Pl 1.26 - 1.26 1.26 0.20 1.47
2HE DRI OtS A E XAl E X0 0.76 - 0.76 0.76 0.20 0.96
(A SeHA0N & | 0.76 - 0.76 0.76 0.20 0.97
2E DRI OtS A E XA E X0 1.43 - 1.43 1.43 0.20 1.63
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(Z=AZPACP2 Pl 1.41 - 1.41 1.41 0.20 1.61
2E DRI OtS A E XAl E X0 0.96 - 0.96 0.96 0.20 1.16
(FA)3eAs-P Pl 0.96 - 0.96 0.96 0.20 1.16
2E DRI OtS A E XA E X0 1.13 - 1.13 1.13 0.19 1.32
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